tion, including Axle Housing (8" overall length to top
of Axle Housing)

13 1/2 ” — 13 x 1 1/2 ” Stainless Steel Hex Bolt with Stain—
less Steel Hex Lock Nut and 1/16 ” Stainless Steel
Washers (both sid ‘
teeth to level sig

a9 1 1/4 " x

Standard Specification.

5. Colors:
Legend — White (Reflectorized)
Background — Green (Reflectorized)

s). Loosen lock nut, adjust bracket - 6. All signs shall ‘conform to section 621 of the Standard Specifications and the
latest editions and amendments of the following FHWA publications:
a. "Manual on Uniform Traffic Control Devices for Streets and Highways™ (MUTCD)
1/8 * Aluminum Angle b. ”Stondord Highway Signs . i
c. Standard Alphabets for Highway Signs

1 1/4

LICENSED
PROFESSIONAL
ENGINEER
No. 3244-C

THIS WORK WAS PREPARED BY ME
OR UNDER MY SUPERVISION

STATE OF HAWAII

DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

7))
—
A
m

ET NAME SIGNS DETAILS

) FED. ROAD STATE FED. AID FISCAL| SHEET| TOTAL
2 1/2 " 2 1/2 ”/f All A!umsmértn ‘60(:6'”—6 Alloy and DIST. NO. PROJ. NO. YEAR NO. |SHEETS
Stainless Steel Components. | | L STD_A1_ (R 1
: /4 " “ H Swing Sign Brockets HAWAII HAW. |NH-STP-032-1(6)| 2000 | 51 53
N7
> : Signal Lights
|1 N TT s, [
18{%62 }71 4;;’ R !] %mci)(et Rivets @ 6" spacing
Extended hiid yp-
851%?5 %%Z%E , Street Name Sign/ Varies © .
© Mast Arm :_*_' Street Name Sign
| *Equol Distance.
_ Center Between Signal e
ﬁ Head and Signal Pole R=2"
z | T , Signal Pole—= Varies I
B STREET NAME SIGN MOUNTING * A i
| ear View
v | (12) ON_MAST ARM 1 (Rear Yiex)
; | | NOT TO SCALE PANEL & SWING BRACKET LAYOUT
——— SIGN
o 2 Q). FOR STREET NAME SIGN
L T NOT TO SCALE
3/8 7 from bottom
of sign mounting —
hole to bottom of ) ) ) | 6'—1" 5-3"
bracket. Note: Dimensions may vary slightly. gall d
| — 5" 46 /2" 64 974" 5" 5" 41" 6" 6" 5"
FIXED LENGTH NON—ADJUSTABLE | | Alowe
; " = | , Adjustment
SWING SIGN BRACKET | @ of 4 1/2 " g g
NOT TO SCALE , ) )
: | | © £ ; o -
] ADJUSTABLE LENGTH I 1 N 1
. SE— WING SIGN BRACKE bl 1 © ]
@ Pivotal Upper Bracket — SIGN NSOT 70 SGM,?G BRACKET L L
yd 2" RADIUS, TYP. 3/4” BORDER 2" RADIUS, TYP. 3/4+" BORDER
@ 15/8 " x 1/4 " Slot for double strapping to electrolier mast arm.
(M26-345(HD) 030" x 3/4 * Heavy Duly Stainless Steel Strp STREET _NAME_SIGN DETAIL STREET NAME_SIGN DETAIL
with M2G—34B(HD) Buckle recommended.) NOT 10 SCALE : NOT T0 SCALE ‘
(3) 1/2 " — 13 x 1 1/2 ” Stainless Steel Hex Head Bolt with Stainless
Steel Hex Lock Nut and 1/16 " Stainless Steel Washer (both
sides). Allows upper bracket to pivot and align with elec— | |
trolier mast arm. | - 6'-3" | | r _6'—47 3-9” 3-11"
@ 6" Overall drop with Fixed Length Sign Bracket 5 537" 6" 6" 5" A 5 50" 64" 974" 5" 5' . 247" 6K 6”5
@ Stainless Steel Dampener Spring (Removable) ‘ ' _ _
, b = " b
(6) Stainless Steel Hex Lock Nut with 1/16 ” Stainless Steel | e M AH AL AN' . s . e ] e
— © A [ —| —| © —|
Washer § | « , 1 ! A 3 . A
(7) 17 0.D. Axle Housing ‘ ' i ] B ;
‘ 2" RADIUS, TYP. 3/4+”" BORDER 2" RADIUS, TYP. 3/4+" BORDER 2" RADIUS, TYP. 3/4” BORDER 2" RADIUS, TYP. 3/4” BORDER
1/2 " — 13 x 4" Stainless Steel Hex Head Bolt with 1/16 ” | | |
Stainless Steel Washer | | STREET NAME SIGN DETAIL STREET NAME SIGN DETAIL STREET NAME SIGN DETAIL ~ STREET NAME SIGN DETAIL
@ Oilite Bushing | | | | | NOT TO SCALE NOT TO SCALE NOT TO SCALE | 'NOT TO SCALE
Sign Mounting Sets, consisting of two each 5/16 ” — 18 x 1” |
Stainless Steel Hex Head Bolt with Stainless Steel Hex NOTES:
Lock Nut. Two holes on 1 1/2 ” centers provide positive lock
sign mounting to bracket. | 1. Street name signs shall have white message and border on green background.
@ 8 1/4 ” overall length Upper Adjustable Sign Bracket 2. Provide the same message on both sides of each sign.
section 3. Al sign faces shall be completely reflectorized with Type "B” reflective sheeting.
@ 9" overall length Lower Adjustable Sign Bracket sec— 4. The sign shall be in conformance with the requirements of Section 712.20 of the

- KAAHUMANU AVENUE
TRAFFIC SIGNAL MODERNIZATION
HIGH STREET TO WHARF STREET

FEDERAL AID PROJECT NO. NH-STP—032-1(6)

SCALE: AS NOTED DATE: AUG. 1

999

'SHEET No. 1 OF 1 SHEETS

ol




